11. Mark each as true or false. If the statement is false, correct the statement so that it is true. 16 points
a. The columns of an 3 x 8 matrix are linearly i t.
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b. Asking whether linear system corresponding to the augmented matrix [a; a, as b] hasa sSlution
amounts to asking whether b isin Span{a; a: as }. .
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c. IfAisa5x3 matrixand Tis a linear transformation defined by T(x) = Ax, then the domain of Tis R°.
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d. The set Span{u, v} is always visualized as a plane through the origin for any @ uWé where vectors
uandvarein R’ nNQ D
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e. IfA Pll((e\\’rlx then the tra@aratg x> Ax maps R*onto R*. awn d A
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f. Ifxandy are linearly independent, and if {x, y, z} is linearly dependent, then z is in the Span{x, y}.
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g. Every linear transformation is a matrix transformation.
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h. Alinear transformation 7 : R" — R™ always maps the origin of R" to the origin of R”.
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